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CALCULATING THE MASS OF WATER THAT CAN HAVE ITS TEMPERATURE  CHANGED
BY A GIVEN TEMPERATURE INTERVAL BY A GIVEN AMOUNT OF HEAT -

Sample Problem 2 What mass of water can be heatéd from 150°C
to 40.0 °C by the addition of 925 calories? > ¥

Solution Let us evaluate the formula, and solve for the unkhown.
Heat= m X At X ¢

7925 cal=‘m Xs2550°C X.1.00-cal
g-°c

S e 925 cal

25.0 °c X 1.00 cal
g-°C

= 37.0 g water
CALCULATING WHAT TEMPERATURE CHANGE WILL TAKE PLACE WHEN A KNOWN
AMOUNT OF HEAT IS SUPPLIED TO A KNOWN MASS OF WATER

Sample Problem 3 What is the final temperature when 500 g of
water at 50.0°C loses 6.50 kilocalories of heat?

Solution
Heat= m X At X ¢

6500 cal= 500 g XAt X 1.00 cal

g-°c
At= 6500 cal
500 g X 1.00 cal
ge2C
At= 13.0°C

The temperature change, At, is a loss of 13.0°C. Therefore, the
final temperature is 50.0°C - 13.0°C= 37.0°C.
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ACTIVITY 7

PRACTICE PROBLEMS d A

‘Solve the following problems. In the space below each problem,

show a labelegd setup. Do any necessary arithmetic._ Write your
answers in the spaces at the right.

3.

What is the number of calories needed to 3.

change the temperature of 50.0 grams of water
15.0°C7 R

How many calories are needed to increase the 4.
temperature of 150 grams of water from 40.0°C
to 65.0°C?

What temperature change in Celsius degrees is 5.

produced when 800 calories is absorbed by 100
grams of water?
How many grams of water can be heated from 6.

20.0°C to 75.0°C using 3500 calories?
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How many kilocalories are required to change 7

the temperature of 300 grams of water 40.0°C?
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8. How many grams of water can be heated 7s5°¢ a9,
by the absorption of 4.50 kilocalories?

i final temperature after 80.0 9. .
calories is absorbed by 10.0 grams of
water at 25.0°c?

10. How man

Y calories are
of wate

released when 250 grams 10.
L cools from 60.0°C to 20:0°07

11. What temperature change in

when 600 grams of water giv

G ig produced =%
kilocalories?

es off 9.60

12. What is the final temperature when 640
calories is

125
given off by 40.0 g of water
at us.0°%c?
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